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Specific Instructions : (i) There are 20 questions. Section - A consists of 10 short
answer questions with word limit of 125 each and Section - B

consists of 10'long answer questions with word limit of 200
each. The questions are printed both in Hindi and in English.

(ii) All questions.are compulsory.

(iii) The number of marks carried by a question/partisindicated
against it.

(iv) Keep the word limit indicated in the questions in mind.

(v) Any page or portion of the page left blank in the answer
booklet must be clearly struck off.

@Ug - A /SECTION - A
1. F1 dafaaes AHdhdr 1 I9a Aleh-sitad & el wugar ® 7

Does individual morality have a bearing effect on the decision of public life ?
2. TETeH1 TTER o T o ITJ9R d HH-T JEawE GPU § Sl U ey g AfE =FaEn
& ITETN &d § 7 faa=an i | 8

What are the essential virtues which are responsible for an ideal human ethical behaviour
according to Mahatma Gandhi ? Discuss.
P.T.O.
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-“ - .
Gorrupt-lon causes misuse of government treasury, administrative ;
&bstructxon in national development”. Give suggestions for preventx‘onmefflCienc ’

public life in the context of the statement given.

4. €% Ha1 % ged § Ffifad i yifea # Frerw SR -
(a) IfF v B
(b) ek Sfaa § geafasan |
Describe the relevance of the following i
owing in the context of civi ices :
(a) Ethical governance S~
(b) Probity in public life.

of COTTuptig, in

A peaceful protest was being carried out by a i

gi 5?;;22 LE_St}I;ZCtﬁ ;‘}Le Police Officials to gre\{/g;r?t}_l It:jhoef;nrgirgr gi‘:;s;;;lfnil:ggggfndent

e Ofﬁcjai 0 diver‘ tzlls them to ‘teach them a lesson’, if situation wariz:r}:?e

o Yo Tt tytlrr:. ulge.s Into an argument with a protestor and beats hirsr;

e S ou IS‘ actlo.n, he says that he was told to teach them a Jes
perintendent of Police. Give your comment on ethical behaviour of both Stgr:z

Superintendent of Police and the Police Official in the light of above mentioned incident

6. HAIGR ! IR Sifs qun gEf va sifremdr & Uoerites uftien vl ) g
|
Hhifs 8

Define attitude in historical perspective and discuss the relationship between aptitude
and attitude.

Wﬁmmﬁmﬁﬁmﬁ%mﬁmaﬁ%
=1 faagq s |

Define empathy and discuss the role of empathy in solving problems of weaker section.

8. “Wﬁmmﬁﬁ@m%"-wammmm; 8

“Emotional intelligence is very important in effective administrative practices”. Throw

light on this statement.
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Differentiate between :
(@ Objectivity and dedication
(1) Structure and functions of attitudes.
T{qUE - ¥ /SECTION - B

19 W a\m > } 2 " . "

e, Wﬁmiﬁmw% S el & guehl R R 2 e B Tl 12
What are the traditional values in Indian society ? How does it differ from modern values ?
Explain.

12, ﬁﬂﬁ??ﬁﬁﬁ%%ﬁﬁw%?ﬁﬁmsﬁm%?ﬁqﬁwﬁwmm‘ 12
What are the ethical perversions of private sector ? Describe the three options of ethical
life.

13, TOHH IS SO 3 O 91 veH F F Ty R -l o Wy staws
T 7 o afed sl 12
Is change in work - culture necessary for providing quality service delivery in present
administrative structure ? Answer with arguments.

14, ] SIS -TRIEE W AT R0 ST R - WS =i S ¥
ol w91 i s/ FilT | 12
Is judicial control necessary in Public Administration ? Explain the various possible forms
of judicial control over the Public Administration.

15, U9 g0 Us SER FEERI 8 991 3794 9€ Arar-fua & e ok d w3 | T ot e
F IH 11 99 & TF SHY AIAH Y 370! TATH 8 ST |a%aa=ﬁaf@rﬁﬁqm_ém
ST o1, STl S - 9T L 1T his A8 o7 | T i 39 oot &1 319 T o1 8 aik
TS TEd © o6 A1e 9% TH AT o g 611U 6 S@ere s, 9 3 3w SATATIHATHR
R w7 T S oft sy R | e giReior | T fd o e s gearn

- 12
HiT |

Ram Murti is a Government servant and lives with his old aged parents in Indore. Ong qay
during a field-visit he meets a 11 year old orphan boy. He was in a miserable condition
and homeless, with no one to take care of him. Ram Murti brings the. boy to home gnd
proposes him that if he takes care of his aged parents, he will give him dally.wage acc?rdmg
to his needs and will arrange for his education too. Evaluate Ram Murti is conduct from
ethical perspective.
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16 @19 & A va na¥fas arhaats A s aen aaga ¥ 7 s 8t i afrge f
faan v sfaa fva =i 7 12
What do vou understand by moral and political attitude of human ? How will you justify

. . ol )
these in the present political scenario

17, fam et Fwmars wfvafa # ga sl £ fEsm fifso ) oz saf 32 #0502 7 12
Discuss the root causes of gender related negative attitude. Why is it so rigid 7

18, wthe duen % ufa =fF £ gargfa Gutn = nfaE #03 a@ s £ 3= e
#1 a3 fHaaa Fifae 12

Discuss the factors which influence the formation of individual’s attitude towards social
problems with the help of suitable examples.

19. ST S A F g va foa awm £ wm 2 - wus fag Hifsm ) 12
“Today objectivity and dedication is the need of the hodir in civil services’. - Justify the
statement,

20. Trsfia ve yardt gfya o :v&ﬁqmwaﬁf&aéﬁgmmmmﬁmw‘ﬁm
arfafea =0 ve Wi fen | usfia 3 S # R 8 mrer diaet Feeren qen 38 micet
24 TN | FR IIAF A Uk GO (T a1 G 39 W A -A0 a0 AW (F79) FFE H 9
T | AHIEA] 3 TS F ST TEERH & A a1 AcAfeeh T o o 39
9= 71 R | 3 Usfta & W W A9 'I4, 91 FE 9o i 38 1 owen giefam F ufy
T 1 ? 3 UFR F| HeFH g a1 gee1 difedl % ufd A agen Iawdw @
fafera sfvwgfa 1 vevia #ed € 1 ga% Fron 41 fas=m FiSe 921 g Fam &g 3w
F1 G | 12

Rajéev was a migrant labour. One day when he was going on the road by his bicycle,
a car pushed his bicycle. Rajeev dragged the driver out of car and began abusing him.
The driver took out a knife and after stabbing him three-four times he fled away from
the spot. Onlookers delayed rush Rajeev to hospital and due to excessive bleeding, he
died. If you were in place of Rajeev, what would you have done for driver's irresponsible
driving 7 Often people show indifferent or passive attitude towards such road accidents
and accident victims. Discuss its causes and suggest the remedies.




